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
- de


pu


- ta



- tur,



-


da


tur


-

 
Ag


nus


- Pas


chae


- de


pu


- ta


- tur,


-

   

 
Ag


nus


- Pas


chae


- de


pu


- ta


- tur,


-

   




 
Ag


nus


- Pas


chae


- de


pu


- ta


- tur,


-

   
 

Ag


nus


- Pas


chae


- de


pu


- ta


- tur,


-

   
              

6

      



5



53

S1.

S2.

B.

S.

A.

T.

B.

Cont.










pa

    
tri


- - bus,


- pa

     
tri- bus.

 
-

 


da


tur


- man


na


- pa

     
tri


- - - - bus.


-

 


man


na


- pa

      
tri- - - - bus.

 
-

 

    
da


tur


- man


na


-

   
da


tur


- man


na


-




   
da


tur


- man


na


-   

da


tur


- man


na


- pa

   
-    

6
            
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S1.

S2.

B.

S.

A.

T.

B.

Cont.









  
Da


tur


- man


na


- pa

 
tri- bus,

 
-


da


-

 
Da


tur


- man


na


- pa


tri


- bus,


-


 

Da


tur


- man


na


- pa


tri


- bus,


- pa

   
tri


- - bus.


-




pa

    
tri- bus,

 
-

  
da


tur


- man


na


-


pa

   
- tri bus,

 
-

   





pa

 
tri


- bus,


-

   
     

- tri bus,

 
-

  
da


tur


-                    



6
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S1.

S2.

B.

S.

A.

T.

B.

Cont.









 
tur


- man

 
na,


- da


tur


- man


na


- pa

   
tri


- - bus.


-


da


tur


- man


na


- pa


tri


- bus,


- pa

    
tri


- - - - bus.


-

da


tur


- man


na


- pa

  
tri


- - - bus.


-


pa

           
tri


- - - - - - - - bus.


-


da


tur


- man


na


- pa

        
tri


- - - - - - bus.


-





da


tur


- man


na


- pa

      
tri


- - - - - - bus.


-

man


na


- pa

   
- - - - - tri


bus.


-   

6


76

   

7


